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BB R G IR 2 At LAt B R ST 48 & i E R

62 A,
@L“:v . 80" — 62"+ 122 = 8a(s’ — 25 + 4),
BIZ, —d'a"+b's—ca'= —ala’z~b"+cd),

ER ANZEER AR AR
il AR IR A
@}}v 3a’ +6a’b + 3ab” = 3ala’ + 2ab + b’
=3a(a+0)', 118862 #)
@l@v (e + ) +2a+ ) =(a+b){l +2a+Db)},
BT, (@+D(z+y—2)—(a—De—y—a)

[V RO

=(a+b)w-+y—2)+(a—b)z+y—2)
=(z+y—2){(a+ D)+ (a - b)}
= Qa(z + y —2),
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§ 92. HERRIE

B —, G R a'be—da’c—blex+ e Z IR BL

¥hz4r &, JA3=(@abz—b%a)—(a’c —bc)
=ba(a’ —be) — c(a’ — be)

=(a’~be)(bx —¢),

17 :..; ay—az(l+g) +ad’(] +zy) — o'

¥, =a'y—ad'a—a'zy +ax’ +ar'y—a'
By E, =(a'y — '@y + az’y) — @'z — az’ + z")
S LR KB, = ayl@® —ax + 2") — 2(a” - az + 2°)

=(a’—az + ') ay — 2),

B E M+ A

ARUT AN HEB:
1. 3a3+6a%. 2. —~4274642%. 3. Brd—10274 5z,

4. 27a%05 4 54a%% —-81a?bs, 5, 4"+2-.16.
6. z(zta)+b(xta). 7. 2a(a4b)—c(atbd),
8. (x+y)?(b+o0) —(@4y) (b4o)2
9. (a—b)c4 (a—be
10, (a+b—0) (& —y—2) + (0—b—a) (y+5—2).
11, az®4-224ax4-1. 12, d®cx--abdx -~ aboy -+ Bdy.
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[

13. abay4-acx +boy--0%2. 14, z°—a’a? —bw+a?b?,
15. 2a3—a’bydaby --2b%.
16. ax®4(as-b)a?4- (¢-bix+ b,
17, o®+ua?b4-ab?4-b3, 18. a3—2a?+al* 208,
19. 3zt 25%-- 21214, 20. 2ot —a?—dx+2.
§ 93 EHEZAXNS)., HREFZH
ARAD @ da—b)=a =1’
SUHREZRE R U 2%
Bl —, 22 x18=(20+2)(20-2)=20"-2"= 396,
B —, (ma+b(—a—D)=(-a) —b'=0a"-b",

=,
(@+b+c)a~b+c)={(a+c)+b}{{a+c)—b}
=(a+c)-b

=a" +2ac+c — b,
o,
(@ + ay + )" — 2y + ) = (" + o) - (ay)’
=g+ Ty + gy,
H A E 4+
HZERRUTHFELSZ I
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AR HAHE RKRESP

88 % 92. (3a+5b) (3a—5b).
(z—2y) (z+2y).

(@+b—0)(a—b+o).
@+ ?(@—y)2 (@’ +b%) (aPx—by).

9. (9a%+6ab 4b?) (9a?—Bab+ 457,

Gm+in) 3m—in).
(#2422 3) (2*+ 22— 3).

~ o &
L) . . .
® o BN

10. (z—1) @@+1) @+ 1) (@*+1) (=8 +1).

§ 94 AXIIDZEHA.

A 3 (ITT): a,-b (a,+b)(a b)

Bl—, 997" —998'= (999 + 998999 — 998)
~1997 x 1=1997,

@w.; 9a’z" — 64b°y’ = (Baz + 8by)(Bax — 8by),

B =, o'+a’y +yt =" +27 + ) oy
—_ (.’1}2 + yz)z . (xy)z

= (@ +ay +y)o" —ay +y),

P, & —2ab —3b*+4be—~ ¢

= {a’ —9ab + b*) — (4v* —4bec + Y
=(a—0)?—(2b—¢)
={(a—b) + 20 —)}{(a—1) — @b ~ o)}

= (g + b —c)a—38b +¢).
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728 B + -
aMUAT &z KB
1. 2—64. 2. 4229, 8. 9295y

4, 49—4m? 5. 1a*—y2%? 6, mSn—mnd,

7. 3—12z%, 8, 8—-50a%% 9, 25(a+4-b)2-—-4(a—d)?,

10, at—04. 11, (Br—2)2— (22~3)2.
12, (a?24+0%)2—4a?D?, 13, x'z——y"—i-?yz—:z".
14, a?4-b¢—¢e —d? +2ab - 2ed,
15, zt—18z'y% 4yt 16, 2141222464,
17, at44, 18, 24 Q—a¥z’y +yh,

19, 2244y?~922~day, 20, 28—82z'y! +-814F.

§95. FEZANW), MITIBEXNZE
ARAVY:  @+a)e+b)=2"+(a+be+ab,
BMzEHEBHEH BB KB HAE
T 2R RR 2 v TR AR O A A I 2 AR WAL,
EL:—;, (x+0)z+3)=a"+B+3)x~+3%x5
=g+ 8z + 15,
Bl (z=8)e—8)=a"+(=5-3)w+(-5)(-3)

=g —8z+ 18,
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PI=, @+b)@—3)=a"+E~3ax+5(—3

o =g +2z—15,

B, @—bB)w+3)=a*+(~5+3z+(-5)3

o =g —2z—15,

(D J 3 A S [ B8 B ACoh A R R o
£ W02 4 S AT 2 98 L 7 48 B LA
AR B G2 A

@QREZARTRYE: NN RKEBE P
THIR W R BT R T R B A K 2 Bk

D e e e V- VAP S LS W PP - S

LA BB N ARAR B 2

g2 8 A + =

RAXRU T A8 25

1. (®+5) (z+410), 2. (@@+7) (z-10),
3. @+ (-5, 4, (z=T) (~10).
5. (z-7) (:v-{:lO). 6. (z+86) (x+6).
7. (@+8)(z—4). 8. (@-—12)(z-1).
9. (2+12) (z—3). 10. (¢~15) (z—15).
11, (2—15) (z+4-3), 12, (—=13)(z+4+14),

§ 96. ANAV)ZHEH.
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ZRAV). &+ @+ e+ ab=(w+a)z+ ),
B —, 2+ Mo+ 12=(z + 3)z + 4);
12=3x4=1x12, T=3+4,
M=,
a*s" — 12abay + 35b%* = (az — Bby)ax — Thy);
35b%* = by x 3bby =Dbby x Thy,Dby + Tby=12by,
Bi=, @+ be—84 = (z+ 12)(&w ~"7);
8d=1x84=2x42=3x28=4x2]=
6x14=Tx12, 12-7=5H,
B, oy —3uoyz — 284" = (wy — T2)(wy + 42);
282" =2x%x28:=22x 14s =42 x Tz, Tz—42=233,
A (§96) ;
Bl A, 20 +1lz+15= (MHIZ"T 19)x2

 (22)%+11(22) 430
= 2

(22+5) (22-4-6)
= 2

= (22 + D) (+3),
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1242 — & — 63 = (1%_.@& 63) x 12

- (122)2— (12r) —63% 12

Nk h= 1 il
MOL bR L) 12
Iy 200307 ()
. [Ty )
Wy T (Xl (63x12=7Tx9x3%4)
N

) 2, by Lta b
2 I,y = Ot
IBREN SRS (127r)2~ (127) — 27 28
t—

;55»1»_33:(“4;)(;;:-£- e , 12
- b by ¥ad ey 49t
(o) ] b be) 7 (12r-23) (1254-27)
p e Le e st OO ) 12
_ 4(35-T) x3(42+9)
- 4% 3

= (B32~T) (de +9),

T HE A T+ =

GRUTHA#XNZA B

1, 2%4+9z4-14. 2. 22-Tz4+10,

3. @*+1la-12, 4, a*—fz—14,

H, m?2—13m4-36, 6. y’—1ly—42,

7. y?+421y+110, 8. «%43z'—4,

9. 22 413mz -+ 362, 10, 22 —9ay— 3642,
11, 28723412, 12, «"y?483xy — 164,
13, 02+ 13b— 300, 14, p2—28p4-75,

15, a2 —13xyz4-22, 16. i 6mn? —T72n%;



Lm0 )
= (x_, )<71:¢;v,4, _—

BUNSIL R

mAr K & it > W R 37
17, 24 17zy 460y, 18, #2429pz4-100p2,
19, 42—-T7y—-18, 20. m?—12m+36,
21, mip*—m?p 132, 22, at4-ay—2092,
23, zt—2222+21, 24, a?b®—27ab+26.
95, 22%+72+6, 96, 3224 14z48,
27, 2:2—z -6, 23. 6224 13z+-6.
29, 912—62--8, 30, 142*—11z-15,
31, 1527248212, 32, 33m?*—-Tm—10,

§ 97. FFHRZANXNM),
R (V) (a+b)(a24ab+b2)2g':-wlé
ARV (@=b@’+ab+b)=a"—b',
Bl—, @+ 22)(1 2+ 4z’) 1+ @) =1+ 8}»2’.
.@L;t, (Ba — 2b) 9a’ +6ab+4b)
= (3a — 2b){(3a)* + (3a)(2D) + (2b)*}
= (3a)’ ~ (2D)°
=27a’ - 8",
Bo ¥ 5 S i 2 IR Wik b SRR T JA AR B
L2\,

Bl =, —i;z—]fﬂ(b + o+ 1,

e )
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ARG UHE RBS

3
L

%y,
=m’+n’ + 9+ 2mn —mr —nr,

® R A + M
MRk BT 4% R 2 B

1. (1432 (1—3a+9a2). 2. (2a+b) (da?—2ab 45,
3. (4da—3b) (16a*+ 12ab 4 2%,
4, (3x—2y) (9x2+6xy -+4y%),
5. (ay+2) (@PP—ayz+72%),
6. (2z—5y) (422 + 102y 4-255%).,
AR UT 4R 2
@' —y°, 8% 42797 8a’—1
7 Ty 8. "2z 43y 2. Ja—1
al--bs 8 —93 27msnd + 1
10. ai—b? 11, 9 —y 12. 3mn4-1
a4+ 273 a®23 - 61037 a8 4-125y°
13. a+3b 14. av— 4bJ 15. «2 49y
. 3a%23 41 147t mén® (@ +yp—-82
18. 3aa:+l 17. 143m?n 18. z4y—2
19, @m +m)3+4 (3m ~ 5n) 8 20. (a+b) 3:(;(a—-b)_3‘

§ 08. AR W(VDZKMA,

Bm—dn’
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(V) @’ +1 = (a+d)(a —ab + 1),
23 (VD a - b’ =(a— b)(a® + ab +b),
Bl —,
7@ +m' = (3a)* + m’ = (Ba + m)(Qa® — Sam +m),
] —,
1-La=1T-Gor=0~ Lo+ Lo+ Lo,
BI=
(@+b)—0"={(a+D)—b}(a+D) + (¢ +D)b+ D%}
= a(a’ + 3ab + 30%),

2 B A T+ &
HBEAEXAPHMUTHEKLZ BB
1, 8ad-1 48, 2. =3-h8y8, 3. & —d3,
4, 1-343:%, 5, 216—a, 6. abi4512,
7. 264y, 8. 8aflS412%3. 9. Glat— 125,

10, 216280, 11, 8272915, 12, (a—b)34+03,
§ 90. [K%5 5 8 2 HE B,
Bl—, &*—¢'=E"+ )" -y)

= (@ + )@’ — ey + )@ - )’ + 2y + y)
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oz,
28z*y + 642’y 602%" = 4’y(Ta’ + 162y - 15y°)
= dx"y(Tz — By)(x + 3y)
@]w E’; o'p’' ~8y'p’ — 4z’ + 324"
= (a"p’ —8y’p") — 4a’q" ~ 32y’¢)
= p'(z’ — 8y") — 49°(2" - 8y
= (z’ — 8y")(p" — 44)
= (z —2)(e” + 2xy + 4 (p — 29)(p + 29),
o,
4z° — 255" + 2z + By = (d«” — 25y°) + (2z + Hy)
= (2z — by)(2x + by) + 2z -+ by)
= 2z + 5y)(2x — by + 1),
B MM A T <

SGMUTERNZEHE
1 o8-1, 2. 7202564,

3. 9mn4-2oy4mi4nd_ad—yl
4, mieimly—niz—ndy, 5, Sd—0r—alodd4ad,
6. 1da*3-—35a%234-14ats,

7. er—dyt o2y, 8, ad4b3+a+b,
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§ 100. mAAME, X ADEABR
ZRBESR UNUBRAZHE
Bl fm da*0’e Z K1BR 2,4,0,0°,0°4a’4ad, 35,
BMAABERNHZHABREERNZAN

%ﬁs((}ommon Measures).

) m da’b’e, 66°b2c'd, 2a'b’ca 22X KBRS 2,05
byey 2a,2b,2¢, 24", 2ab, 2ac, 20’0, 2b°c, 2¢°0" ¢ 5F,

BB P RBEBERAEBRR AN
(Greatest Common Measure). 18 1,1 G. C. M7
B KA # B 1 R,

10 m R 9 ER AR 28 S 0h 20'Ye Z R P
LIS /A O

§ 101. R/ AAHHEEG), HWHRZ
S 5% BT 44 5 i m h

(D) Bt =R Bk 2 £ B

(RS- SAER, P S0t FIRL Y I PN IO Vw2 I L SZOLEIVIR.LL DIV AN s O A s 2t dndad

Bz i K2 S8 AE R,

A

) —,  da’ys, Szy's", 16xyz 2 Fox KIS 70 Bk
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——

T daye,

B, 8a’b’c,da’bc’d,6a'b"cd 2 & KA E]
R a’be,

(LD) 3 55 5 % IR W 2 B SR e K28 B9 K
TE:

~—an

S

, V@L_i (a a:) , ala —z)’°, uax(a a:)5 ,{,mj(
AKIE T a~a),
B, 3R 3a’ + Qab,a’ —9ab® 2 B KA KI B,
Kl 8a” + 9ab = 3ala + 3b),
@' — 9ab’ = ala + 3b)(a— 3b),

e G.C. M= ala + 3b),
fﬁ] L, 3k as’ + 20’5 + @°, 200" — da’z - 6a°, KL
Bz + ') Z | K2 K1,

K ax’ +2d°c + a’ = ale + a)’,
Qax’ ~ A’z — Ga’ = 2a(a® — 20z — 3a) = 2a(z + a)(z — 3a),
S(az + ') =3l +a)l =3a’(x + a),

W G0 H=alz+a),
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BB E + t

RUTHBEPERNZ R AL P8
1, ab%?d, atbeds, 2. 24a%3z!, 60alb'as,
3, ab’ a’bo, abo?, 4. 12mént, 16mondpe,

6. 152%y%2 20y72%, 35284,
6. 17xq* 34p°q, Slp*¢®. 7. a*b>(m?—n?), a3 (m—n),
8. 8aty(a+-0)2, 14a%p (a2-0?),
9. a*+ab, a*--b3, 10, 222 —_2xy, 282,
11, . a%a%y, 23193, 12, a®b—al3, a®h?—a?bs,
13. a*—a’z, a®—a2?, at—asd,
14, a*br+abs, a?b-—b3.
15, @*—2? a®—az, alz—aa?
16, 2(x—4), 5022—2, 17, 2242, (z+1)2% 28+1,
18, 22—2ay4y(x—2 19, 234848, a4ay—22,
20, 224-3z42, a?—4, 21, 22—18z+4-45, #2-9,
22, 1222421, 152248z +1.
23, 2224-9z 44, 222411245, 2223292,
24, 3a4+t8aB4-42? 3264112t 4628, 324 —165°— 1243,

§ 102, FRAMIMWEZO), FEHEH

N

=

HOEE R W Z BN R TR A R
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H BB A2 A By o3 PR IR B OF T 4O LR
Z.

BianAgr 8N ARB, ORI BR A
VASE0 vh S ER KR 78 R Z 77 4o °F

B)A(Q, BREBZ R A 2 KB,
BQ, (- LIB KA BESQBRER,

1{1) B (Qz ?i‘m Rx ’%B??r Pl.gj Q:Bﬁ% R’z’
RO~ mURKRR, BUF &R A,
Rz)R1(Qa %& &%ﬁn [-ﬁ-]@% 'Péﬁﬂ{%‘é%’

RO Bk 2 B S Ro,
R,

i”’"‘RD) RH—1 (Qn+1

RI]QILH —
—hte (

A R, =A-BQ(1), 80 A=R, + BQ,(2),
# (), MPiA A B B2 2 SR R Z K%
] i 40 KI5 5 28 ) o A 3 2 2 5,0 6
it I 3 (D) 22 75 i A, —— A, B 2 24 K s 78
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R, BBZ 2 K184,
RCQ),MRBIEHFZAHUEIEAZLHE
W AB Z s KA K BEN R,B Z 3 KA K1
B3, R, B Z S R AR R,R, 22 & K 2
SR
KAB 2B RAKIBEN R RLR, Z B KD HH],
ISR 46 1 W, WT 41 R, R Z2 3 K A K15 ED
7 AB Z R H
A Rn,, B Rn B 3% W Ra 8 Ro 2 £ 9 [ B R
N A BB RZHIWG K Reosy Ba 2B KB4
S0 B A% R,
i Bn 435A,B 2 B K A 51 W,

H 2R RSN A,BZ R K B 5 s
g

HEXNABBZRYUTILAKX UBKRA,
THIR B R RUAR, B B 2 5t b R, BELL R B R,
THEERR R, o ok 79 ERAT BR 14 2 S I AR 0L
KKZBRETHRABZ AR,
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s

g+ 1o’ + 20 +12"+ 20+ 2o+ 1l LA AN

x + o 2+ 22" + x (- BB R e+1,
z+1 a+1| P+l E3N
z+1 | o+ 1, SR

0
GO —s+1,

@LE K22 -bx+2/a’ +40" ~4a~-162
NN O LS

20—1| 22" =Bz +2 2’ +4da* - 42 ~16
22" —4dx ( _ 2 ( x
-+ 2 20° + 8z* — 8x ~ 32 &
—a;+2(__ 2x“—5x2+2(c(__
0 132* - 10 - 32
2 ( x
20z — 20z ~ 64 13
262" — 6ba + 26(__
15 | 450~ 90
x—2

G.CM.=zx-2,
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Pt

SRR A T A T g Ak B

5 B, P 2 S 48 S R AT BRIE IR A K
Bl & — #0028 IR 2 9k 85— R 2 K180 MR B
K2 FVA B3 D, SR K T e IR 4R, 45290
A — #9545, e YRR SR IR 207 - Ba + 2 2Z K9 WL 1K
SHE A 3T OF5 &3

B2 8 5 + A

F U T A b 2R KA

1,

LA

® N o @

234222132+ 10, 28422 —10zx 48,

o3 222 —Br—16, 234-322.—8x 24,

o8 —z? 5z -3, 2% —422—11z—6.

a®—5a%x; 4 Taz? - 323, a®—3ax?4 23,

228 — 522 4+ 11z 47, 4a3 11224 252+7,

Eat— 3082221, 924—328 21,

33— 3ax? 4 2a%r —2a3, 323+ 12ax? +2a%z 483,

1023 4-25a2? - ba3, 4x%4-9ar?—2a’z—ad,

HB, BRI & 8K KR §18, b
s, AR T RA, Tﬁi”ﬁ@ i A A L 32

N RS ST
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K 2200 it R )t"%’]ii&%?ﬁﬂﬂ‘%l ViRiA

e

i &%, i 14 E] B )L 5L 44 1 (Buclides’ Method).
§ 103 SEWMAZEFHE HXAKRD
R B 2 RGBS BR(E R §5T, A A

o S i £ P o P S P B P B e o o o S P o o oy P AL T o P P PPN N P NS N N P NP

3—’- (Numerator), B ] % # (Denominator), f;@ =2
E] i IE(TeL ms).

AT S W2 EB =2

P B 5 it 5\ i L 45 A =By,
B UA B0 3E/H 4, Am =Bz xm
= Bmaz,
(R 5 )

OE oh Ban AS 550, 85w L BS: 794 16, "3"%%:’
o =T

(ERZ T 5 URTLLA B 0 2 [
2, W AR,

5, 10 m O AT W0 WL 1 T e = ) I
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— 3B )%

A Ax L

B = BxL

1t §52, 1% = o
R Z M) 5 WAL RO W

Zo A48,

§ 104 #95. S W2 WA A KW
& DLILR K 241 @,EB%A<MMmm

%Q%WH&% %ﬁﬂr%nﬂ

AP I NN I TNl

‘~_~_~~~~~~~V_.~~~~~~~ VVVVVVVVVVVVVVVVVVVVVVVVVV

1511 L 10 10654+ 20 rmz.
Ul e 12200 T (20482 2 206° 2 Gh
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— 12:32 = 19437+ 34% = dac

EN BRI EX ALk

— 9 332 8.2
15“ — 12 . 12032 % 30 4ae =4a0_

P Sovdd 32 T T 3a%30%¢ 1

WEZ, LA Bk R KN 8GR £ 4
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U0 3 0 460 55 WD 5 RE AR L, T 45 25, L) 996 3 16 0
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RS ABRETHREN LAY
ZRIEN

225214 (z—1)(z—4) =—1
@LN“[E], BTz 4127 (c—3) (x—4) ~ 2—3

‘Bli] :Ff,, 22 —az 2 (2 —n) ®

Zi—a? — (T4a)(Z—a) L4

N vy 724243
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JU§102 27 v 3R e 70 S T8 22 R A K8
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WHUTHEZS R

8% &p'q*r, o 10a%%
L g6 > ot % 16ab™

12Pmn? 4a%, Tadlicd .
Lg% Gy S Siawes
7. 8% g ©HTatl2 o 2m(r4h)
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10, ad b3 3r2.. ]oya

2 _Buby bt 11, 372+93y+('J
1225 a*—ab— 3a+“b
e ) 13. (a2 b)) (a—3)
a?—b? ad-kyl —~27
14. ‘(‘a‘— b)‘z’ 15. (z ‘_ y) 3 6. ‘z—i‘_—g‘o
S+ RS at bt
17. m‘gmm‘ B8 &
19 —(a+d)z+ ab ‘o (@—2%) (a +a)
) x~+ (c—a)z— Zuo " (a¥4-zP) (u—-x)
__a=b (2482 —(z—1?,
21. (@-8%) (a+0) 22. (a+btzx)?—~
at oy g g ad—z—1
23, T fye ., 2d, LEITITS
) L3 g8 3 1
* . *
25, LT 26. T
*07 — 5224+ Tz —3 08 88— 1822+ 23221
: sr3—— 3242 * 1523382220421

*99 218 4527y —30- 92 2Ty,
’ 428+ Hay?— 21y

«30 425 — 1022+ 4242
* G283zt 2

§ 105. ’\ﬁ’a'ti%ﬁﬁiiﬁ
H&—A/ jj __" d Zflﬁéq n:fv:J,Eﬂ

a C
b= @ < T Y
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555 W = ba,+ (1) c=dy,(2)
VA1), (2) 2 A5 R 1 43 B3R 22, 4%
ac = bday,

Y va B e =X 9 1, %3=wy='77><%‘ 714

(HBZFEE ZoBZHEB ¥

o el e LT ol L e e

LLE 2 B2 RULE 20 T JR 2 - Z AR AT T
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